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5 8 . Giv en a positiv e integ er n su ch  th at in = 1 , wh ich  of th e
following  statements abou t n mu st be tru e?
(Note: i2 = −1 )
F. Wh en n is div ided by 4 , th e remainder is 0 .
G. Wh en n is div ided by 4 , th e remainder is 1 .
H. Wh en n is div ided by 4 , th e remainder is 2 .
J. Wh en n is div ided by 4 , th e remainder is 3 .
K. Cannot be determined from th e g iv en information

5 9 . For − ≤ θ ≤ ,  ⎪sin,θ⎪ ≥ 1  is tru e for all and only

th e v alu es of θ in wh ich  of th e following  sets?

A. 5− ,  6
B. 5 6
C. 5θ ⎪ − < θ < 6
D. 5θ ⎪ − ≤ θ ≤ 6
E. Th e empty set

6 0 . Ray PK
→

bisects ∠LPM, th e measu re of ∠LPM is 1 1 x°,
and th e measu re of ∠LPK is (4 x + 1 8 )°. Wh at is th e
measu re of ∠KPM ?

F. 1 2 °

G. 2 8 °

H. 4 2 °

J. 6 1 °

K. 6 6 °
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5 5 . Wh at is th e period of th e fu nction f(x) = csc(4 x) ?

A. 0 π

B. 2 π

C. 4 π

D.

E.

5 6 . At th e sch ool carniv al, Mik e will play a g ame in wh ich
h e will toss a penny, a nick el, and a dime at th e same
time. He will be awarded 3 points for each  coin th at
lands with  h eads faceu p. Let th e random v ariable x
represent th e total nu mber of points awarded on any
toss of th e coins. Wh at is th e expected v alu e of x ?

F. 1

G.

H.

J. 6

K. 9

5 7 . For wh at positiv e real v alu e of k, if any, is th e 

determinant of th e matrix 3 4 equ al to k ?

(Note: Th e determinant of matrix 3 4 equ als ad − bc.)

A. 0 3
B. 0 4
C. 1 2
D. √""1 2
E. Th ere is no su ch  v alu e of k.
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END  OF TEST 2

STOP! D O NOT TURN THE PA GE UNTIL TOLD  TO D O SO.

D O NOT RETURN TO THE PREVIOUS TEST.


